
DAILY BASIS ASSIGNMENT 

        DAY: WEDNESDAY            CLASS: V              DATE:29.04.2020  

         

  SUBJECT: ENGLISH 

 

I. Choose the correct answer that identifies the common noun in the given 

sentences. 

 

1. Meena, Leena and Lara are my best friends. 

a. Meena  

b. Leena  

c. Lara 

d. Friends 

2. Mr. Satish is a famous doctor practising in Patna. 

a. Satish 

b. Famous 

c. Doctor 

d. Patna 

3. Rita is wearing a red frock. 

a. Red 

b. Frock 

c. Rita 

d. Wearing 

4. Atul and Rahul went to a city. 

a. City 

b. Went 

c. Atul 

d. Rahul 

5. I want to learn how to drive a car. 

a. Want 

b. Learn 

c. Drive 

d. Car 

 

 SUBJECT: EVS 

I. CHOOSE    THE   CORRECT   ANSWER: 

1. Which part of the plant can rose be grown? 

a) root         b) stem             c) leaf                         d) seed 



2) All of the following plants can be propagated by leaf cutting except 

a) Begonia       b) Hibiscus      c) Bryophyllum          d) Sansiveria 

3) Plants grow out of 

a) Ink              b) plastic          c) seed                       d) water 

4) Where does the food come from when the seed has not grown its leaves? 

a) from other trees       b) from air       c) seed uses its stored food     d) from soil 

5) From which part of plant can sugarcane be grown? 

a) roots                b) stems          c) leaves                    d) seed 

 

  SUBJECT: MATHS 

 

I. Choose the correct answer 

1.  36921832 - 0 = ................ 

a) 36921834     b) 36921832       c) 36921831      d) 36291834 

2. (12314 + 328) + 463213 = ..................+ (328 + 463213) 

a) 12314       b) 328         c) 12315       d) 463213 

3. The difference between smallest 6-digit number and one thousand is 

a) 1,10,111     b) 1,00,000     c) 1,50,000      d) 99,000 

4. The difference between largest 7- digit number and 50 lakh is 

a) 9,99,999     b) 49,99,999   c) 50,00,000      d) 99,49,999 

5. The sum of the largest 6 -digit number and ten thousand is 

a) 10,09,000    b) 10,90,999   c) 10,09,999     d) 10,00,000 

 

  SUBJECT: COMPUTER 

 

I. Choose the best options from those given below: 

i) Computer calculate and process with amazing 

(a)  Power      (b) Speed            (c) Efficiency   (d) Rate 

  

ii) Computers play a vital role in 

(a) Boosting research     (b) Planning        (c) Both (a) and (b)   (d) Controlling 



 

iii) __________ help in making our routine task much more quicker, error free and easier 

(a) Computer  (b) Developer        (c) Liveware             (d) Software 

 

iv) All input, processing and output and accessories are included in 

(a) Software      (b)Hardware       (c) Liveware                (d) Firmware 

 

v) A computer system has a number of __________ which work together to execute a given 

task  

(a) Liveware  (b) Firmware       (c) Component     (d) Both (b) and (c) 
 

ह िंदी असाइनमेंट 

 

I. नीचे दिए गए बहुदिकल्पी प्रश्नों के सही उत्तर चुनकर दिखिए । 

  प्रश्न  1) भाषा क्या है ? 

क) बोलना              ख) ललखना            ग) संकेत          घ) विचारों का आदान-प्रदान 

प्रश्न 2) भाषा के शुद्ध रूप का ज्ञान कौन कराता है ? 

क) व्याकरण           ख) ललवप            ग) िणण             घ) िाक्य 

प्रश्न 3) भाषा की सबसे छोटी इकाई क्या है ? 

क) ललवप             ख) िणणमाला          ग) िणण          घ) व्यंजन 

प्रश्न 4) ‘विजय ‘ का उचचत विलोम शब्द क्या है ?  

क) हार               ख) पराजय            ग) जय            घ) अजय 

प्रश्न 5) ‘ पुत्र ‘ का सही समानार्थी कौन सा है ? 

क) बेटा, सुत         ख) सुता,पुत्री            ग) अनल,पािक        घ) काया,बदन 

 
विषय – संस्कृत      

 

निम्िलिखित विकल्पों से सही विकल्प चुिकर उत्तर दें –  

1. ‘ बािकेि ’ कौि सा िचि हैं ? 

( क ) एकिचि  ( ि ) द्वििचि  ( ग ) बहुिचि  ( घ ) इिमें से कोई िहीं 



2. ‘बािकेषु ’ कौि सा िचि हैं ? 
 

( क ) एकिचि  ( ि ) द्वििचि  ( ग ) बहुिचि  ( घ ) इिमें से कोई िहीं 
 
3. ‘ गच्छनत ’ का मूि शब्द क्या हैं ? 
 
( क ) गच्छ  ( ि ) यच्छ   ( ग ) गम ्( घ ) छति 

 

4. ‘ खादन्ति’ कौन सा पुरुष हैं ? 

 

( क ) प्रथम पुरुष   ( ि ) मध्यम पुरुष  ( ग ) उत्तम पुरुष   ( घ ) इिमें से कोई िहीं 
 
5. ‘पठथ: ’ कौन सा वचन हैं ? 

 

( क ) एकिचि  ( ि ) द्वििचि  ( ग ) बहुिचि  ( घ ) इिमें से कोई िहीं 
 
    
   _____________________________ 
 
 
 
 
 
 
 
 

 


